Math Kangaroo Practice
January 20th, 2019

1. 1 ice-cream cone costs 1 dollar. There is a sale so you can buy 6 ice-cream cones for 5 dollars. How many ice-cream cones at most can you buy with 36 dollars?





2. How many different numbers greater than 10 and smaller than 25 with all different digits can we make by using the digits 2, 0, 1, and 8?





3. A pirate has two chests. There are 10 coins in the chest on the left and the other chest is empty. Starting tomorrow, the pirate will put 1 coin in the chest on the left and 2 coins in the chest on the right every day. In how many days will the two chests have the same number of coins?





4. Alice has 3 white, 2 black, and 2 gray pieces of paper. She cuts ever non-black piece of paper in half, Then, she cuts every non-white piece of paper in half. How many pieces of paper will she have?



5. Susan is 6 years old. Her sister is one year younger and her brother is one year older, What is the sum of the ages of the three siblings?





6. Peta Rabbit has 20 carrots. She eats 2 carrots every day. She ate the 12th carrot on Wednesday. On which day did she start eating the carrots?







7. Thirteen friends shared two pizzas. Each pizza was cut into eight slices. If everyone ate a slice, how many slices remained?






8. Today John and Paul added their ages and got 12. What number will they get in 4 years?





9. [bookmark: _GoBack]Brain and William stand in line. Brian knows that there are 7 people in front of him. William knows that there are in total 11 people in the line. If Brian is just in front of William, how many people in the line are behind William?






10. Balloons are sold in packs of 5, 10, and 25. Marius buys exactly 70 balloons. What is the smallest number of packs he could buy?





11. There is a tournament at the pool. First 13 children signed up and then another 19 signed up. Six teams with an equal number of players are needed for the tournament. At least how many more children need to sign up so that the six teams can be formed?






12. A mathematical test consists of 20 problems. At the beginning, everyone starts with 20 points. For a correct answer one gets 1 point, while for an incorrect or missing answer 1 point is subtracted. Mary’s final result is 24 points. How many correct answers did Mary have?



13. Ten bags each contain a different number of candies from one to ten. Five boys each took two bags of candies. Alex got five candies, Bob got seven candies, Charles got nine, and Dennis got fifteen. How many candies did Eric get?





14. A small zoo has a giraffe, an elephant, a lion, and a turtle. Susan wants to plan a tour where she sees exactly two different animals. She does not want to start with the lion. How many different tours can she plan?
















